FAFE B A A

Al = O

\Ilq/ (=] o 10 1O |O |©
! o
o 8 SIEIEIEIE 8 8 & N|¥|%
3 . o 2yyy,.|y > Ody (&) 244
o [ ol ol e — ) ==
- 5 g ™ ™ — ==
% _A_.,_nﬁ_v = < < G A A
S d
=
[a0) O 10O |0 |O |2
R SIS IS I8 I8 o [ k) o 1o |O |o |© N~
g ZRIEBIEIR g 818 SIBIBIBIE |8 S HEE
_ g glg g | |2 =2[=) @ | [ | |m o o - — | —
P 8 8 Bl5|&
wZ <=
uidi
s
RIS
N O O M IO IO I || © O O O o O
28 8 (8 (@3 R ] o 1o
FEECRBRIBIREERBE BRERIE ERBEBEEEEEEEEBEERBEES § ¥
o aolNININ [ © & © ~ <~ - —|lo|o ez s |s]s ole o 2le o = lalala o o = =
cedolRlmm|efE e 2le gIP|s @@ |e slg g glg @nldlglges © <
<
=
i
W W
ol ol oY <l o1 0 oy oy
8§88 8 3 g 8 SO
5SS I S x * 303
o o o o 00 oF h N
o S88 § 8§ 0 8 5
u . © 0 S ® J = To) To)
.m._ = i < > < <
[ =) O 4] = = =
. S o S oF) oF)
) S SIS
. < = K R
< 2 8 8
Al
=3
: 3
= = 00 — —_ o~
e < D iof iof
_ |
&_Av_ @\ o Ir 0 o =
3 = oo 10 ¥
/At@ ) = m._uuﬁo %u |(m\ o <F <F
< n . -
= | = 5 R R o 0 53 i = =
a0 | R DT MoEls|S o 0 S 5
U 80 5 =333 5 | & z C
A . _ < o o o Ho S| <
R 5 |70 5 & y|g O -
75 %0 1 2 | o S o o —
LA bl i 70 [} ~ o
<0 %0 ~ E|_
m

_653_




S AGEZ I
HHM: FIPNLASSITAIA
Hel: H2E ScSAtY F=d CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o KIgt=(2E 13])
83,380 x255 ) Ax13] 21,262
00ISM4E 4 $EAASLR 242,786
0 & (2II1EAN
70,6402 %3004 A3 63,576
0¥ (HYR)
370, 7202%3007H A *13] 111,216
o Z(2tE) 110, 00024 x255 | A*23] 56,100
o ¥4 (Rehs)
11,6602 %2551 A#43) 11,894
02%%E FEAALSLR 1,509
o ZIIBA 33,2002 *3H A53] 498
o 13| 336, 7302 %3 A+ 13 1,011
OSZH|(Z2IYRER)
8,0002%501%80A! 3,200
202 Ot 12,000 9,600 2,400
01 2UHoi| 12,000 9,600 2,400
ORI R48 200,0002%501x 122 12,000
203 L2 =AY 3,000 3,000
03 AIHZ=RIQD =AY 3,000 3,000
OlSMsT HRFH 1,500,000 1,500
OXlgateE o Gl4E AREA
1,500,000 1,500
206 THEH] 135,241 140,320 5,079
01 2HI 135,241 140,320 5,079
OFZAAE ey P 211
042IH 1,600& %5001 80
022/E 1,080 %50K 54
012/& 77020 1007H 77
OliSatleE ASE ZE Y
80,0002 %2807 A *63] 134,400
OASHE 3229|(1H) 2L
6,3002%100kg 630
401 AlEHI L2 0HH 110,000 110,000
01 Al&H] 110,000 110,000 0
SEZDAIL FHSET X L A2
110,000,000 110,000
405 KHAHE SH 20,000 30,000 A10,000
01 MU 2EFSY| 20,000 30,000 A10,000
OlI2A4E HAET| WA
1,000, 0002/ %2074 A 20,000
ARRETAIE HHSX B 83,300 86,000 A2,700
[ 25,000
= 58,300
401 AlEHI L2 0HH 83,300 86,000 A2,700

_654_




SA ABHED
HE: 2ZPHMLUSSTIAY
ol S2E SSAY = (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
= 25,000
= 58,300
01 AIZH] 83,300 86,000 2,700
OARBLTAIA Hi2X A
83,300,0002 83,300
= 25,000
— 58,300
AXTATY 22,880,786 28,367,826 5,487,040
2 148,000
= 14,722,000
— 8,010,786
([N 3,716,746 3,594,306 122,440
= 700,000
= 3,016,746
AR 2T T535 AlE N A AR (ARREE 1,000,000 1,000,000 0
AEIHZEAL) (M & (R BHAL)
= 700,000
= 300,000
401 A2 20HH] 1,000,000 1,000,000 0
= 700,000
— 300,000
01 AlZH] 1,000,000 1,000,000 0
OARZETAIZINZAI (N2
1,000,000,0002 1,000,000
= 700,000
= 300,000
[ENENENTE 2,716,746 2,594,306 122,440
401 AU E0HH] 2,716,746 2,594,306 122,440
01 Al&H] 2,707,000 2,585,000 122,000
ODISA4T FHIAMY 1,987,000
OAHE HXIDIS A4E 22 DAITA
200,000,000 200,000
OAHE Ol2IL Al4E 293 U UBIAN &
XIBAH 80,000,000 80,000
028 MEDS LSM422 DHBA
15,000,000 15,000
02K B AIROIS A4 222 41|
=2 150,000,000 150,000
02N LZ0IS A4T 22 HHIZAF
25,000,000 25,000
02M 2202 A4T F 2@ HH|ITAF
30,000,0002 30,000
02A B LIS LT HBHBE Il
SAt 30,000,000 30,000
OAE SEANT DISALE 52 nF
SAt 110,000,000 110,000

- 655 -




SA ABlETD
M ASC ALY
oo Olsd=aiel CEREERD
S . R . OOl (5] ) - . D i
SA - B - BRI(E) - MRAY - BaS e e HImS2
0AZ L2 DISAZE 290 SASAl
50,000,000 50,000
OAIE BE DISALS Hi2X JIx 222
A 15,000,000 15,000
OAIE HEIDISAIAE BIE O A4D2 §
HIS At 60,000,0002! 60,000
OAIE SAIDISAAE BIE 2 A4D2 §
HIZ A 62,000,000 62,000
OAIE DIZE(AIZ]) DISALE AETA}
170,000,000 170,000
0CHY ARIZOIS AT S22 DHZ
A 170,000,000%! 170,000
0CHY OIEDIS AT L5222 DHBA
200,000,000 200,000
OCHE LIAIDIS AT QUBIRIE JHZBAL
50,000,000 50,000
0CHY OIS AT QUBHREE JHLBAL
50,000,000 50,000
0MloH SHOIS 293 DM L HIAX MY
2 FHIZA 60,000,000 60,000
0AIS 2HDIS ALTH2 DHITA
250,000,000 250,000
0AIS CIAIDIS AT QUBIRIEINL A}
50,000,000 50,000
0AS D20IS AlST UBIRIE JHLBAL
160,000, 0002 160,000
OXIB4 HBFEZAF U AFERE2|AMY
70,000,000 70,000
QAL HIZHE L SXI22IA
100,000,000 100,000
OASBAAM 85 L 22|
50,000,000 50,000
OSH DISAAE SXEAAY
500,000, 0002 500,000
03 Al IHH 9,746 9,306 440
OIS AL T A 20|
2,707,000, 00024+0. 36% 9,746
ASIE ZHelAY 7,040 5,520 1,520
ArCRe|e =X 7,040 5,520 1,520
201 Yet2 Ay 2,240 1,920 320
01 Al 22 2,240 1,920 320
OBBHI(M2TH2=T)
8,00021*4Q1%704! 2,240
202 04t 4,800 3,600 1,200
01 2LHo 4,800 3,600 1,200
OMHTHD 43 100,000 %401x1284 4,800
NE NN 19,157,000 24,768,000 £5,611,000

_656_




A ASHEED
B MTAIY
CHl: MASEAIY (crel: iz
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 148,000
= 14,022,000
= 4,987,000
NSSTE FH] 2,000,000 4,000,000 22,000,000
401 A2 TR 2,000,000 4,000,000 22,000,000
01 AlZH 2,000,000 4,000,000 22,000,000
OXIZAAE 019} U JHAAI (T2 L Bt
SRA HH) 2,000,000, 0002 2,000,000
SOHEMEELNL(TLHTLE 58 ¢ NLARE 4,030,000 5,715,000 1,685,000
SITAR) (ME) (HEAIY)
= 3,425,000
= 605,000
I NETEET] 4,030,000 5,715,000 1,685,000
= 3,425,000
= 605,000
01 Al 4,030,000 5,715,000 1,685,000
OHSEE4E 54 2 NLNTE SIAI(
H&) 4,030,000,0004 4,030,000
= 3,425,000
2 605,000
SHEMEELNL(ANTS 7Y NLASE SHAF 2,141,000 3,429,000 1,283,000
o) (X&)
= 1,820,000
= 321,000
401 AIEHIL=TH] 2,141,000 3,429,000 1,283,000
= 1,820,000
= 321,000
01 Al 2,141,000 3,429,000 1,283,000
OAEBLTS NYASE A (M)
2,141,000, 00024 2,141,000
= 1,820,000
2 321,000
SEZSTA HIASZY PEAY(FEAY 6,404,000 3,800,000 2,604,000
= 5,134,000
= 1,270,000
401 Al2HIL= | 6,404,000 3,800,000 2,604,000
= 5,134,000
= 1,270,000
01 Al 6,404,000 3,800,000 2,604,000
OSEZ47 HIABSYTEALY
6,404,000, 00024 6,404,000
= 5,134,000
2 1,270,000
SOENESANL(NHLE SBELT B8 2 X 4,286,000 1,000,000 3,286,000
SHAMAE SIERALR) (RHEHARY)

- 657 -




2A:
X ZH
S

HEE

A - HH . H2(3H) - HRAK = Of] &K o1l Aol Hws2
[ 3,643,000
o 643,000
401 AIEHIZL 20| 4,286,000 1,000,000 3,286,000
[ 3,643,000
o 643,000
01 Al&d] 4,286,000 1,000,000 3,286,000
OMEME SEE-T 34 2 NgaeE
SHEAIS 4,286,000,000& 4,286,000
& 3,643,000
= 643,000
AOIE Xgat=E XA 296,000 0 296,000
= 148,000
o 148,000
401 AIEHIZL 20| 296,000 0 296,000
= 148,000
o 148,000
01 Al&d] 296,000 0 296,000
OFLT (ML) AHMES HSHH 2=
296,000, 000& 296,000
= 148,000
= 148,000
ot ANH 1,408,228 2,462,701 A1,054,473
S22 ALY 1,408,228 2,462,701 21,054,473
SIECAlE Y 465,520 580,520 A115,000
201 LBt 3Y| 1,920 1,920 0
01 AtR-2teld 1,920 1,920 0
OSUI(Bl=THRFA)
8,000 *321+804] 1,920
202 O4d| 3,600 3,600 0
01 =ZLHO4H] 3,600 3,600 0
Odt=E R+ 100,000 *301% 122 3,600
401 AEBIZ 20| 460,000 575,000 A115,000
01 Al&d] 460,000 575,000 A115,000
Oot&(LSUl) X+ dl=22 EXISA
30,000,000 30,000
O0I2g X+ o222 HXISA
30,000, 000& 30,000
Odt=2Z 28R L 2128+
400,000, 000& 400,000
ot=22 J|=aE L O ALY 936,000 1,876,775 940,775
401 Al&HIZLROHY] 936,000 1,876,775 A940,775
01 Al&d] 936,000 1,876,775 940,775
OUWIXIS 179) otz=X2IRS ofzx=2t2 JI=d
e 436,000,000 436,000

_658_




LA AotaE 1t
M ST A
ol ol 2 ALY CEREERD
SA - EHH - SR(E) - HRAI - BES Gl imE=T
OAI® Bt&XelRS JI=xH IHEAY
200,000, 000& 200,000
OUKNS 220 StXelRSE JIEEIS JHEAL
g 300,000, 000& 300,000
Holgk=XelAlE 2l 6,708 5,406 1,302
201 L2 3| 6,408 5,106 1,302
01 At22t2ld| 5,892 4,590 1,302
OXIX LHIEHA OIMSKIA ME
1502%5,00004*13] 750
OFALEES HE 33021%3,00001*13] 990
OAlE2te| T2 KX=e|
346,0002 122 4,152
02 S=2Z| 516 516 0
O 2ERF 4302 % 10001+ 122 516
206 =4I 300 300
01 =4I 300 300
OAEEE =8 2L 1,500 *2004 300
ot==& el 904,370 668,229 236, 141
ot=E2g 904,370 668,229 236, 141
ot=E2g 22,600 16,320 6,280
201 L2 3F| 5,600 4,120 1,480
01 At22t2ld| 3,200 1,920 1,280
OZH(AE2ILRFAN)
8,000 x501x804 3,200
02 2223H| 2,400 2,200 200
Obl4 &3/t 2,400,000 *13] 2,400
202 0t 12,000 7,200 4,800
01 =ZLHO4H] 12,000 7,200 4,800
OAME2IHR 43
200,000 %501x 123 12,000
308 AXIHMSOI&E 5,000 5,000
07 AXISHMZIREZ2 5,000 5,000 0
OIS 7H 336t=HelAld 2elul(2
3) 5,000,000&* 12 5,000
=& 2 O AS 881,770 651,909 229,861
401 A EBIZ 20| 881,770 651,909 229,861
01 Al&H| 881,770 650,130 231,640
O33ot=XHeIANE g2+
50,000,000 50,000
OoteHelAd Disdcl (g, 549, 23)
31,680,000 31,680
O336l=HelAld I8 A 219,390
0AHY B38l=XHelAld €2D] FBI(2H
E)AMNY 56,500,000 56,500

- 659 -




S2A: ABtEED
M GiaE 22
&el: oteE=2d™ (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
0AE D20l HCIAA Metp ZI&X
2t2=)| WAl 19,000, 0002 19,000
0ALE ZREISHEIAA MEME B2TA
9,500,000 9,500
0AFR ZREISHEIAIA ZOIH2|8H A
MAHI| AR 23,000,0002 23,000
0ALE ZREISHEIAE WESHED D)
BHA DHed AYY 30,000,000 30,000
QAIOHEHA ZREIH 2| Al A S HI B IOl
B WXALS 7,000,000 7,000
QAIOHEHS ZREIASHEIAIA 24| F|(
SHE) A 14,390,000 14,390
QAIOIEEA  AI® DIGIEHEIAIL BISx
TO|RX| 2D WHA
60,000,000 60,000
OAE R Z2REI-HEIAIA HURA 2(
QHE AlIOHEHS AIR) 21,700,000 21,700
OAE ZREIAHCIALE RIS XISHEAR
Al 70,000,000 %14l 70,000
OFH ,MHEEHIHE PLC WH(ZEE)
20,000,000 20,000
OAAR BhXelAlE WR S5EHIHSE)
6,000,0002% 174 A 6,000
OAFDZ RN 28 GIXH A7)
260,000, 0002* 174 A 260,000
OAART RISl 22 DA
2,8, QF) 11,000, 0002 11,000
ORE AFRZR5tH2lAlA PLCLAH L
SERCIAIAE 2= 35,000,0002 35,000
O ARPZIZoIHelAlL HESHL
Jl &X| 60,000,0002 60,000
OAARZREIHEIAIE HH0|2HI =2
HIHDHM(ED, ME, &)
90,000,000 90,000
OUM AFD DIGIAEHEIAIL B DX
SA 7,000,000 7,000
SHzel 195,985 409,568 A213,583
[ 5,100
= 190,885
Hzel 15,485 239,068 A223,583
LHSHAPREX 12,785 16,368 3,583
201 US| 4,385 7,968 3,583
01 At 4,020 4,820 A800
OYptgH| 2,100
0Z=QIXIRALSS =X OHHS HIR
200, 00024 #5704 1,000
0L ZAIZIHSY 2ol 1,100
o= 2,000 *3507H4 700

_660_




2N ABHEED
a2y
el =2 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o12IH 2,500 1607H 400
OS2 (+EHALDER)
8,000 *321%80A] 1,920
02 S5=4H| 365 3,148 A2,783
OXlots 2t 2ERS(SI1)
2,530 1221x 123 365
202 O4H| 8,400 8,400 0
01 =LHoig] 8,400 8,400
OB N 2428
200,000 *321x12& 7,200
OXlsi0l sz
100,000 *1Q!x12& 1,200
A2 A AR SSE3TsEs(HEE22) 2,700 2,700 0
201 28H=3| 1,700 1,700
01 At22tel] 1,000 1,000 0
O== SIS XHERNE S
1,000,000 1,000
03 A2 700 700 0
O2E BAHIBS HAZX
700,000& 700
301 Et2MS 1,000 1,000 0
11 EARHIXES 1,000 1,000
OBE HASBES HA B4
1,000,000& 1,000
Klote=3 Xl 2te| 180,500 170,500 10,000
& 5,100
i 175,400
ANot=HE a5+ 28,000 28,000 0
& 5,100
o 22,900
401 AIZHIZL S0 28,000 28,000 0
= 5,100
o 22,900
01 Al&H] 28,000 28,000 0
OXlots &EiZA & HE2 452
28,000,000 28,000
& 5,100
i 22,900
2XAot=2E2 21 & 29 152,500 142,500 10,000
403 MR HSAH=01A 152,500 142,500 10,000
02 SJ12S0Itet=H AL 152,500 142,500 10,000
O=2xXlote 252 4R
30,000,000 *4 4 A 120,000
Oz=g A2
2,500,000 * 130 2 32,500

- 661 -




S ot
M THRES(Aot=Z1t)
o©elr LHEHHKIE (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
HRES (Aot=E1t) 2,583,531 2,274,028 309,503
LHEAHHRIZE 2,583,531 2,274,028 309,503
MrTAIEEE 2,583,531 2,274,028 309,503
701 J|IEISI HISHES 2,583,531 2,274,028 309,503
01 JIEt2| HINE= 2,583,531 2,274,028 309,503
ON+ZAZSHSN HES
2,583,531,0002 2,583,531
NLEs (Aot 6,761,033 6,370,054 390,979
LHEHHKI= 6,761,033 6,370,054 390,979
SEINESEIH ME 6,761,033 6,370,054 390,979
701 J|IEISI HISHES 6,761,033 6,370,054 390,979
01 JIEt2| HINE= 6,761,033 6,370,054 390,979
O==ZMEEE3NH HE=
6,761,033,000& 6,761,033

- 662 -




A E Al A

F

<J

Nl & O

z 8 | |N ¥ (S |B o (3
qoa [glElelele |2 > g
0] v_mﬁ_v
E=)
D | |D|D |O |0 [ fe) o o — | O
D |00 |0 |0 |W©O |©O o 1O o O Al
el N I I il b o |®D S |S ©
kR 5 g g
Har 15
mi<l
RIS
D= | | |©O |© © O O N — Al O o O O [N fe] oo I O (e} o WY |W© «© L0 (o] «© D O
BelclclE8888 3 RIEEEEERIBIE BIBIEE B8 RIB8 & & 8 8 §BE
SRREBIBIE &S 5 8= -8 e T8 8 = ®
= |«
o
<
r=3
oo oW @ ol T TR [ ol <Y B 2 B B 2 3
I N 5 8 502 & N X9
x % x x  x % x  x  kx  x 32 o x o . l X — o) o
ol o) n ol o o ol ol ol ol B & ol & X 38 § 8 39
O PP =z 2992 Yy S ? 8 ¥ ® = & =8
XX X% x x  * 3 A = > ulo o o S ©
0 o oy © * M o oo X oW o S S i S S 8 IS 8 o
o o * ol © o o H o o % S o m fo S S fse) - © S
Al =8 3 288 8g88uw & 8 T g 6 ¢ & 2
y T O b ol ) < . 3 = R - U <o} N @ se} Q
= S 3 ? R & =~ S D Ik Q «Q © Y
3l 88 g g& g S 8= 8 Mo M0 o 2
= . 1eo) & 1 -5 W = & =n & g}
< o o : 8 0 g U0 w Ol
IF & s 2 N _ E y I ¥ oo
= = I ol 2 oJ %0 ) ) 00 00 00
) = R 2 Uo 5 g S T
: ~ = W 5 - =) W EU R VI
— Bl = 0} nJ M o} H %0 - o w0 w0 = & i
Ul @ B = 5 0 5 T = ™ L
4 3D ) _lur of J g N . o 3 _ m of A o I i
Sz | Bl | B2 28 @ Lu22o) e || B2y Ry B o2 B o3 os
20 oF = K U0 00 U — M ~ = o — = A . |0 K < I
Q4] @ il PR om0 mmm s moasRED vaooa (Ml o A T om
2 . ar L f = ok T = 80 |0 A - & ao |-
_o=| #& e I O A VA=t I | oF < & (25 |H — |12 o<k K
SEE) O LSS 6 sdaens © Crwurm@EEd 2|12 o (|f0go-0 OO 00 O O
LH 80 80 . = |5 [®0 |o) [HO % o © o o S o o oS o o |ol |[< % & [ % o i) 81 |Ho muo muo % muo muo %
sor T s[5 EEB zE 7 |85 3|3
o =
ama| |G|k |F B
. F =0 |3
T & oF ic |®
DF 0 {1 20

_663_



S AGEZ I
HI: AT Al D2
CHRl: MCH HATALZR] L 2 (ALTAIISESIH) (crol: 221
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
MSE Al 2 3,370,282 3,154,806 215,476
MNSCH HAZALZL] L 2 (MSTAILSEEH) 3,370,282 3,154,806 215,476
3 HXTAIE X2 1,572,645 1,431,850 140,795
101 2124 201,795 195,011 6,784
M4 JIHH22ISES 201,795 195,011 6,784
ALT R YREX(0F2H2S,401) 172,680
0123 182, 78024*421x200 146,224
OARILE 182, 78024 x401x 11 8,043
OAIZRXIRE 28R 10,413
oAZEE 154,266,320 24%3.545% 5,469
o IrSEE 5,468,74024%12.81% 701
0EZH 154,266,320 %1.75% 2,700
o ATHEE 154,266,3202*1.0% 1,543
0EIX3 2,000,0002 %401 8,000
Ot 2| UPEXR(F2122 10]) 29,115
0123 76,9602 %101x2492 19,164
0FXtg 76,9602 %101x522 4,002
0o XIS 76,9602 % 10111 847
05224 76,9602 %101% 1220 150% 1,386
OAIRXIRY 282 1,716
o UL 25,396,8002%3.545% 901
0L QIED| QS
901,0002%12.81% 116
01EEE 25,396,800 %1.75% 445
0AHEE 25,396,800 % 1. 0% 254
SRS 2,000,000 10! 2,000
201 L2 A 500,522 426,807 73,715
01 AF222IHI 110,317 86,013 24,304
OHLZ RIFHIBY 442
450,000 *3H A * 122 16,200
Od+& =3l 600, 00024 +3IH A+33] 5,400
OFZAANLLR2(HS) 30,046
0T H A (F2HAAL
326,420 x3)) A+ 122 11,752
0 SEH A (F2HA AL
33, 1202 %3 A43|% 122 4,770
0S4 CH(FH2HAAL
52, 220R*7 I A 128 4,387
0B C & (R2HAAL)
21,6202 %6 Ax 122 1,557
0Z2LIEHZSEH (21 AAH
62,5202 %9IH A#43] 2,251
0ZH2ARIXS STH(F2HAAL
52,6202 %3 Ax23|* 12 3,789

_664_




2A:
PSE
o /e

cH):

St
2T Al B
AT, BAFALDE] U RH(MLTAASHEIH)

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
02t=(EH1ZAL) 70,0002 %14 A 23] 140
OBFOIRIA (BEDIZAF)

700,00020%1JHA#23] 1,400
OLTHARL2(24) 18,934
0F 4T L HATSA(FAAAN
79,50021+674 A +83] 3,816
0F47 U EHAFSAX(2I|AAN
476,900+ 70 A x43] 11,446
052 U ZHAAN B2E0}
102, 0002 <374 A+ 122 3,672
OYA DIMS I AHEAHBDIZAN
2,000, 0008174 A%23] 4,000
OXlots w2HH0l21A 2AH
1,000,000+ 1A *13] 1,000
OAE2 OISR ARZAELE
51,8202+ 130 & 6,737
OLENSHE)| HEHA 222(SCHE
) 650, 00021 *16CH 13! 10,400
OSME 2EAASH DEALE (ST
9l %) 400,000 %300 A <313 3,600
OAFSERZDIA M
1,30020%4,0005+13] 5,200
OLE2HIIAAAS| BAQA 2L
100,00024%701%23] 1,400
OAAZ D ZAK HE DS
800, 000! 50! 4,000
OFLE OII2SX SHA HEPRES HIE
e 250,00024*25] %20 & 1,000
OF, H4+% 29 AQ4 22 39
200, 0002 %374 Ax4 3| 2,400
02 ZZ 29| 300,205 340,794 49,411
02223 2 HMAl 364,980
0XII22(H4E) 194,400
oMM MEEEF AT
9,000,0002!* 1284 108,000
OCHY FHAE 6,000,00024* 1224 72,000
OAE FaR 1,200,00024* 124 14,400
0XII22(HLH) 86,400
OMHMESEIH AT
5,000, 0002!* 1284 60,000
0Tt HAE 1,200,00081% 122 14,400
OAE HaR 1,000,00081% 124 12,000
0XII2BOIAE L bI4XI) 38,160
0 AFEHRAKI(17H4)
180, 00011 JH A+ 122 2,160
0 EEIISF (1)
3,000, 0002 %1 7§ Ax 122 36,000

- 665 -




S AGEZ I
HI: AT Al D2
CHRl: ASCH HAITAILRR] L 2 (ASCAIASEHS|H|) (crol: 221
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
[EREEIGEESS))
45,0002 %3 A 122 1,620
0TI MBRIHE 42
250, 0002 +6I A+ 122 18,000
0MSILB(HE 30HL)
100,000 +73] &1 12 8,400
0NRINB(F, B4E L IIE)
150,000 %103 1+ 122 18,000
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0LENSESEHR MEZ HTY
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10,000,000 10,000
206 M=l 101,760 79,530 22,230
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OASHI(ROIEALIES) ¢
45021%5,500kg* 122 29,700
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3302%1,500kg* 122 5,940
O2& M (Z2l$atstdstaad20ls) 22
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OZ2&HI(Z210) 120, 0002 %2 *103] 2,400
Ottt =2¢ 20,0002 *3IH A*30 1,800
Oalgal J|12 8,220
OAILZ(EZEEM 5)
500,000 *3M Ax5Z 7,500
WEh = 12,00024*30) A*20Z 720
FEATE SHID| PEIU(EEH 2 13
Z) 1,200,0002*3H A*35 10,800
401 AlEHI 2L 20HY 758,568 729,002 29,566
01 Al&H] 756,120 725,600 30,520
OF AL X122 32,000
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0F2RY|(HED| Q4B) %M
700,000 x4 A53] 14,000
ON4+E ANES B4 2 8X 118,920
0F%Z JIHEX RS
15,000, 0002 %374 A 45,000
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10,000,000 23] 20,000
OF, B+& SHFHI(EHDI, LUREH| S)
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2521%6,00024 122 1,800
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0 AT (40H2)
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oA nH ¥ Al 70,750
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OAODE X WXl
20,000,000& * 104 20,000
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405 KRS HI 5,000 0 5,000
01 AL =EEFSHI 5,000 0 5,000
SHESE S22 ZAIPCLA
5,000, 000& 5,000
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OLQIQUR) | HELHS
5,035,0002%12.81% 645
O=td=s28= 142,006,000 %4 5% 6,391
OLEEEFER 142,008,0002*1.75% 2,486
OATHEERE = 142,006, 0002 1% 1,421
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OLI2HEEH 012 42
100,0002* 12 1,200
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SJoIE HX(FEMESERI) 10,051,800 11,871,000 1,819,200
= 6,929,000
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St HHI(E4X7) 500,000 0 500,000
= 300,000
[ 100,000
= 100,000
401 A& HILS0HY] 500,000 0 500,000
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O=ZEFII| BT HA 2=22(20H2)
5,500,000 5,500
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O£ZTMS TOC ZXI|J| 7
80,000,000 *1CH 80,000
SIaHEIANE (2214 E 2 ¢ 212=27) 510,000 818,000 308,000
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402 QI2EXH=0] ™ 841,282 859, 152 A17,870

_677_




SN A
B PAMSE SEETAY FX
el FOIXIRAR (S EIHESE3IH) (CHol: M2
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
] 841,282
02 BIRIXFEAIS 2 X (01 &) 841,282 859, 152 AT7,870
O RALS 337,000
O4+AE SR 1,000,000 1,000
p 1,000
0% 336,000,000 336,000
p 336,000
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p 29,554
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29,554,0009! 29,554
p 29,554
202 01t 1,610 1,610 0
p 1,610
01 =UHoiH 1,610 1,610 0
OFBIXIAAIY EXAE B
1,610,0002 1,610
p 1,610
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Aot Y 29 19,000,000/ x1A! 19,000
307 QI2H0| M 1,605,089 1,605,089 0
| 463,755
o 1,141,334
05 BIZtRIES 1,605,089 1,605,089 0
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O&F JIEEL(80m/Y) 913,735,000 913,735
J| 267,840
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ouzl JIEE5L(50m/Y) 651,354,0002! 651,354
| 195,915
z 455,439
OMEIIER L 21227
40,000, 000& 40,000
401 Al &HIZL 20| 842,664 649,319 193,345
01 Al&H| 842,664 649,319 193,345
OISR LZBHRINL IS He
SAE AAIEH Y 150,000,000 * 14! 150,000
OUePDIEER3ssH2AIE J|sdd 8Y
45,813,900 % 14 2*13] 45,814
OMFIIEELSSH2AE L Uets=E
SZBH2IAIE ZASIE A2 DH
13,200, 0002 *201 2 26,400
OMFIIE2LTTHLIAL &I|a JIEx
CH[(ACB) 1Al 17,000,000 %14 A 17,000
OUeDIE2SZBAHIAL Kot thats
At 30,000, 00021744 30,000
OMFINEZLTTBHRIAIL UARAE E
E82% Wil 21,450,000 * 11 21,450
O&Al HMelgl 552,000
00 JIER R 27,000,000 %122 324,000
o2l JIEes 19,000,000 * 12 228,000
405 XHAHEISHI 6,000 6,000
01 A EZF S| 6,000 0 6,000
OUzidiE2aasaHMelAE AEA oA
el 6,000, 00081 4! 6.000
EEXeAE(2RH2AE 29) 498,898 446,551 52,347
J| 105,243
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SA MEC D
HE: AAL STPFAY =X
el STHAIEXR(SEINESESI) (Ctol: ®2l)
SA B E(BH) - HRAY - BES Gl HIDS2
= 393,655
201 Lere | 500 500
01 AlRZ2lt] 500 500 0
O/ MDIEIL ALY 4g
100,00024501%13] 500
307 QI2HOIA 406,051 406,051 0
105,243
300,808
05 I2kR(EZ 406,051 406,051 0
O2nHalAld Zelts|
396,051,000 396,051
105,243
= 290,808
O=LXaIAL 22274
10,000,000 10,000
401 Al 20t 92,347 40,000 52,347
01 Al&H 92,347 40,000 52,347
O=% XX/l 3,000,000 122 36,000
O=LH2IAL JerH 2
31,146,500+ 1) A#13] 31,147
ORLHMe AL AFTT HEZAL
25,200,00021% 1742 25,200
NEETIPCTRN=h) 750 0 750
SEXE(SENESLE) 750 0 750
RS 750 0 750
802 BHe+2|E} 750 0 750
01 2DEX2Ha=2 750 0 750
02021 ZF=LIRISAIRE I L DBXIR EBE
OH(OI XIS 750,000 750
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